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Secrion @ SoLvING EQUATIONS CONTAINING FRACTIONS (CONTINUED) ‘

To SOLVE AN EQUATION IN x

Step 1. If fractions are present, multiply both sides of Solve: — + 2 = =
the equation by the LCD of the fractions. 15 3
Step 2. If parentheses are present, use the distribu- x _ 7 o
tive property. 15(E * 2) a 15(5) [\Ldgl[;";? By e
Step 3. Combine any like terms on each side of the
equation. 15(i) +15-2 = 15(2)
Step4. Use the addition property of equality to 15 3
rewrite the equation so that variable terms x+30=735
are on one side of the equation and constant
terms are on the other side. x + 30 + (-30) = 35 + (=30)
Step 5. Divide both sides by the numerical coefficient o
of x to solve.
Step 6. Check the answer in the original equation. Check to see that 5 is the solution.
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